
SCALE: 3"=1'-0"
TYPICAL CONTROL JOINT FOR GYPSUM BOARD

A3.01
5

VINYL OR METAL CONTROL JOINT

VA
RI

ES

1/2" GAP

METAL STUD FRAMING

SCALE: 3"=1'-0"
BASE PLATE DETAIL

A3.01
9

2"X2"X1/4" STEEL TUBE

5"X3"X1/4" STEEL BASE
PLATE

7/16" DIA BOLT HOLE, TYP

EQ
.

EQ
.

EQ.EQ.

WALL BASE, SEE
FINISH SCHEDULE (1) #10-16 SCREW PER

STUD FLANGE - TYP

20 GAUGE CONT TRACK TO
MATCH WALL STUD WIDTH

WALL ANCHOR, (2) 0.145" DIA
HILTI X-DNI UNIVERSAL PAF AT
16" OC (1-1/4" EMBED)

SCALE:  1-1/2"=1'-0"
TYPICAL FLOOR ATTACHMENT DETAIL

A3.01
6

SCALE:  1-1/2"=1'-0"
SECTION AT PARTIAL HEIGHT WALL

A3.01
10

S/S WALL WRAP
WITH 2" RETURN
LEGS

2X F.R.T. WOOD
BLOCKING
GANG AND TACK
WELD (2) 16 GA. 6"
METAL STUDS TO
TOP OF TRACK
5"X3"X1/8" STEEL
PLATE

2X F.R.T. WOOD
BLOCKING

2"X2"X1/4" STEEL
TUBE

3/8" DIA THRU
BOLT @ 2'-0" O.C.

S/S WALL WRAP
WITH 2" RETURN
LEGS

4'-
7"

 T
OP

 O
F 

W
AL

L

6" METAL STUD 16
GA. @ 16" O.C.

(2) 3/8" DIA REDHEAD
SELF DRILLING
MASONRY ANCHORS

5"X3"X1/4" STEEL BASE
PLATE. RE: 9/A3.01
FLOOR FINISH,
RE: A1.05

6" BOTTOM METAL
TRACK

SCALE:  1-1/2"=1'-0"
PARTIAL HEIGHT WALL PLAN DETAIL

A3.01
8

1/2" GWB ON 6"
METAL STUDS 16
GA. 16 O.C.

NEW MARLITE
WALL PANEL TO
MATCH EXISTING

S/S WALL WRAP
WITH 2" RETURN
LEGS

2X F.R.T. WOOD
BLOCKING

3/8" DIA THRU
BOLT @ 2'-0" O.C.

6" METAL STUD 16
GA. @ 16" O.C.

2"X2"X1/4" STEEL
TUBE

5"X3"X1/4" STEEL
BASE PLATE, RE:
9/A3.01

10
A3.01

PL-2  PLASTIC LAMINATE (U.N.O)
COVERED SHELF/COUNTER, BRACKETS
PROVIDED BY FOOD LION VENDOR

ALL FASTENERS MUST BE
ADEQUATE FOR JOB & TO
SECURELY FASTEN SUPPORT
TO WALL. EXPOSED
FASTENERS SHALL HAVE
BEAUTY WASHERS

EXISTING MASONRY,
STUD OR FURRED WALL

Scale 1 1/2"=1'-0"
SECTION 

A3.01
12

WALL FINISH,
RE: A6.01

NEW METAL STUD BOX BEAM
LINTEL TO MATCH EXISTING
FRAME WALL SIZE.

A

SCALE:  1-1/2"=1'-0"
WELL OPENING DETAIL

A3.01
16

NEW OR EXISTING
METAL STUD TO BE
ATTACHED TO NEW
METAL STUD BOX
FRAME

WALL FINISH,
RE: A6.01

NEW METAL STUD BOX
FRAME TO MATCH
EXISTING WALL SIZE.

NEW OR EXISTING METAL
STUD TO BE ATTACHED TO
NEW METAL STUD BOX
BEAM LINTEL

B
WRAP OPENING WITH
STAINLESS STEEL AND
SEAL ALL CORNERS

WRAP OPENING WITH
STAINLESS STEEL AND
SEAL ALL CORNERS

CONT. 2x2 WOOD
SUPPORT

1'-3" DEEP

3"

CONT. 2x3 WOOD
SUPPORT

FASTENERS WITH
BEAUTY WASHERS,
TYP.

725
32"

(CLR.)

36.36°

2x4 WOOD LEDGER/CLEAT TYP.
ACROSS THE BACKWALL - BREAK
BETWEEN SUPPORT BRACKETS
PAINT P-3(B) U.O.N.

5'-
0"

NEW OR EXISTING OUTLET & CONDUIT,
RE: ELEC. DWGS.2'-

6"

21 4"

VCT AS SCHEDULED

VINYL COVE BASE AS SCHEDULED

3/4" x 4" WIDE B-C PLYWOOD
SUPPORT, TYP. @ EACH
SUPPORT BRACKET

2x4 WOOD LEDGER/CLEAT TYP.
ACROSS THE BACKWALL - BREAK
BETWEEN SUPPORT BRACKETS
PAINT P-3(B) U.O.N.

EXISTING WALL

CAULK

EXISTING STUD OR FURRED WALL

2x2 LEDGER/CLEAT AT END
WALL, PAINT P-3(B) U.O.N.

CAULK

PLASTIC LAMINATE COVERED
SHELF/ COUNTER BRACKETS
SPACE AT 3'-0" O.C. MAX

PLASTIC LAMINATE
COVERED SHELF/ COUNTER
BRACKETS SPACE AT 3'-0"
O.C. MAX

PLASTIC LAMINATE ON TOP &
FRONT FACE OF SHELF, SEE
FINISH SCHEDULE  NOTE #5
FOR LAMINATE COLOR ON
SHEET A6.01

3/4" B-C PLYWOOD, TYP., PAINT
UNDERSIDE, P-3(B) U.O.N.

2'-0" DEEP

PLASTIC LAMINATE ON TOP
& FRONT FACE OF
COUNTER, SEE FINISH
SCHEDULE  NOTE #5 FOR
LAMINATE COLOR ON SHEET
A6.01

3/4" B-C PLYWOOD, TYP.,
PAINT UNDERSIDE, P-3(B)
U.O.N.

NOTE: FOR LENGTHS OF
SHELVES FIELD VERIFY

Scale 1"=1'-0"
SECTION AT COUNTER

A3.01
11

12
A3.01

MILLWORK NOTES:
1. USE 3/4" FINISH GRADE B-C PLYWOOD.
2. SUPPORT BRACKET SPACING NOT TO EXCEED 3'-0".
3. THE CONTRACTOR SHALL LAMINATE ALL EXPOSED

PLYWOOD SURFACES; REFER TO FINISH SCHEDULE
NOTE #5 ON SHEET A6.01.

4. ALL SHELVING & COUNTER DIMENSIONS ARE TO BE
FIELD VERIFIED.

5. GC SHALL PROVIDE ANY BLOCKING NECESSARY.

FINISH FLOOR

WALL MOUNTED FIRE
EXTINGUISHER (2A10BC)
POTTER ROEMER
PORTABLE
EXTINGUISHER #3005
WITH #3903 MOUNTING
BRACKET

PROVIDE WALL
BLOCKING SUPPORT
WHERE REQUIRED

27
"

MI
NI

MU
M

SCALE: 1"=1'-0"
EXTINGUISHER DETAIL

A3.01
17

METAL STUD BRACING AT 4'-0" O.C.

EXISTING STRUCTURE

6"

NEW MTL. STUDS AS
DIRECTED ON SHEET
A1.03 AT 16" O.C. 18 GA
W/ TOP AND BOT. TRACK

VCT FLOOR FINISH PER
SCHEDULE. RE: A1.05 &
A6.01

VINYL COVE BASE PER
SCHEDULE, RE: A6.01

NEW SLIP TRACK ANCHORED TO
EXISTING ROOF DECKING

Scale 3/4"=1'-0"
NEW FULL HEIGHT WALL SECTION

A3.01
1

EXISTING
SALES AREA

EXISTING WALL OR
PREFABRICATED COOLER
WALL

VARIES

3 5/8" METAL STUDS AT
16" O.C. FRAMING FOR
PLYWOOD

3 5/8" METAL STUDS
AT 16" O.C.

CO
OR

DI
NA

TE
 W

/ H
EI

GH
T 

OF
 C

AS
ES

3/4" PLYWOOD SHELF
CUT IN THE FIELD TO
FIT OPENING

VARIES

NEW VCT- SEE FINISH
SCHED. 1'-

0"

OUTLINE OF CASE

3 5/8" METAL STUD
SUPPORT BRACE

EXISTING WALL

VA
RI

ES

VARIES3"

MAXIMUM OVERHANG
3" ADJACENT TO CASES

OUTLINE OF
ADJACENT CASES

3 5/8" METAL STUD
FRAMING

3/4" PLYWOOD
SHELF CUT IN
THE FIELD TO
FIT OPENING

EXISTING WALL

SECURE METAL STUDS
TO BACK AND SIDE WALL

3"

NOTE:
THE SHELF FRAMING IS
TO BE SECURELY
FASTENED TO THE
ADJACENT WALLS.

DO NOT FASTEN TO THE
ADJACENT CASE END
PANELS UNDER ANY
CIRCUMSTANCES.

2"

2"

3 5/8" METAL STUD
SUPPORT BRACE
BELOW

3 5/8" METAL STUDS DIAGONAL
BRACING EACH SIDE

NOTE:
SIZE AND SHAPE OF
FRAMING AND
PLYWOOD AS
REQUIRED BY FIELD
CONDITIONS

Scale 3/4"=1'-0"
CAPPED VOID BY G.C. - CROSS SECTION

A3.01
2

Scale 3/4"=1'-0"
CAPPED VOID BY G.C. - PLAN VIEW

A3.01
3

VINYL COVE BASE PER
SCHEDULE, RE: A6.01

VCT FLOOR FINISH PER
SCHEDULE. RE: A1.05 &
A6.01

NEW 1/2" GWB ON MTL
STUDS ON BOTH SIDES

NOTE:
NEW WALL FINISH AS
SCHEDULED, RE: A6.01NOTE:

NEW WALL FINISH AS
SCHEDULED, RE: A6.01

A3.01
6

 
SEE A1.04 FOR
CEILING HEIGHT

6" 
SEE A1.04 FOR

CEILING HEIGHT

1/2" GWB ON 6" METAL
STUDS 16 GA. 16 O.C.

FLOOR FINISH, RE:
A1.05

CUSTOMER
SERVICE

4'-
7"

 T
OP

 O
F 

W
AL

L

Scale 3/4"=1'-0"
SECTION AT PARTIAL HEIGHT WALL

A3.01
4

NEW MARLITE
WALL PANEL TO
MATCH EXISTING

NEW COVE BASE,
RE: A6.01

SALES
AREA

A3.01
6

S/S WALL WRAP WITH 2"
RETURN LEGS
2X F.R.T. WOOD
BLOCKING

8
A3.01

10
A3.01

SALES AREA NEW
E-COMMERCE

ROOM

BOTTOM OF BOAT RACK
EL = 6'-0" A.F.F.

FACE OF WALL

BOAT RACK SUPPLIED BY FOOD
LION & INSTALLED BY G.C.

THE GENERAL CONTRACTOR
SHALL MOUNT THE BOAT RACK
WITH 1/2" DIAMETER THREADED
ROD. COVER THREADED ROD
WITH 3/4" PVC SLEEVE FROM
TOP OF BOAT RACK TO 6"
ABOVE SUSPENDED CEILING.

NOTE: G.C. TO VERIFY THAT ALL EXISTING BOAT RACKS HAVE PVC SLEEVES OVER
THREADED RODS, WHEN NOT EXISTING G.C. TO PROVIDE PVC SLEEVE PER THIS DETAIL

TYPICAL AT DELI/BAKERY PREP
OR PRODUCE PREP

1/8" ALUM. PAPER
SHELF

NEW OR EXISTING
SUSPENDED CEILING

Scale 1/2"=1'-0"
AT LAY-IN CEILING

A3.01
7

SUSPENDED BOAT RACK

1/2" DIAMETER
THREADED ROD
ATTACHED TO
UNISTRUTS AT BAR
JOISTS AT SUSPENDED
CEILING CONDITION.

1'-
3"

PLASTIC LAMINATE ON 3/4" B-C PLYWOOD,
SEE FINISH SCHEDULE NOTE #5 FOR
LAMINATE COLOR ON SHEET A6.01

11'-0"

EQ. EQ. EQ. EQ.

Scale 1/4"=1'-0"
DEPT. MGR. OFFICE SHELF 

A3.01
14

PLASTIC LAMINATE ON 3/4" B-C PLYWOOD,
SEE FINISH SCHEDULE NOTE #5 FOR
LAMINATE COLOR ON SHEET A6.01

6"

11'-0"
(FRONT)

2'-
0"

6 12"x3" GROMMET

4'-0"

EQ. EQ. EQ. EQ.

Scale 1/4"=1'-0"
DEPT. MGR. OFFICE COUNTER

A3.01
13

EXISTING CEILING,
RE: A1.04

NOTE: BRACKETS ARE TO BE
ANCHORED IN SOLID SUBSTRATE

EXISTING WALL PANEL, WP

EXISTING VINYL WALL BASE,
VB-1
NEW ELEC. TELE & DATA
OUTLETS, RE: ELEC. DWGS.

RELOCATED LEXMARK PRINTER,
PROVIDED BY FOOD LION. SEE
ELEC. DWGS. FOR OUTLET AND
DATA JACK LOCATION

Scale 1/4"=1'-0"
EXISTING DEPT. MGR. OFFICE ELEVATION 

A3.01
15

11
A3.01

EQ. EQ. EQ. EQ.

NEW BRACKETS ON EXISTING
SOLID SUBSTRATE, MAX.
SPACING 3'-0" O.C., LAMINATE TO
MATCH COUNTER

NEW OUTLET AT 64" A.F.F.
RE: ELECTRICAL DWGS

NEW SHELVING, COUNTER &
BRACKET. APPLY NEW PL-2 ON
COUNTER & SHELVES. PAINT
UNDERSIDE AND EXPOSED
WOOD P-3 (B)

EXISTING WOOD TRIM

15'-11"

11'-0"

2'-
6"

2'-
6"

-

JB

RD

WALL SECTIONS

A3.01
2594A3.01_00

COPYRIGHT © 2021 - ALL REPORTS, PLANS, SPECIFICATIONS, COMPUTER
FILES, FIELD DATA, NOTES & OTHER DOCUMENTS ARE INSTRUMENTS OF
SERVICE PREPARED BY: CUHACI PETERSON, (CP) AS INSTRUMENTS OF
SERVICE REMAIN THE PROPERTY OF CP. CP SHALL RETAIN ALL COMMON
LAW, STATUTORY, AND OTHER RESERVED RIGHTS, INCLUDING THE
COPYRIGHT THERETO. ANY USE OR REPRODUCTION OF THIS DOCUMENT
WITHOUT WRITTEN PERMISSION FROM CP IS A VIOLATION OF FEDERAL
COPYRIGHT LAWS.

SHEET NO REV

SHEET TITLE

PROJECT

CHECKED BY

DRAWN BY

PERMIT SUB DATE

PROJECT NO

CONSULTANT

ARCHITECT/ENGINEER SEAL

CLIENT

REV DATE REVISION / ISSUE NAME
REVISION / ISSUE HISTORY

2220380

04/14/2023

FOOD LION STORE #2594

3260 RAY ROAD
SPRING LAKE, NC 28390
2594FLMK23

FOOD LION

2110 EXECUTIVE DRIVE
SALISBURY, NC 28145
PH: 704-633-8250 F: 704-636-5940

2600 Maitland Center Parkway
Suite #200
Maitland,  FL  32751

P (407) 661-9100
F (407) 661-9101
c-p.com
Florida Corporate Certificate #AA C000526

PH: 704-633-8250   FX: 704-636-4940

2110 EXECUTIVE DRIVE
SALISBURY, NC 28145

04/14/2023 

MARCUS JAMES BOYLE
NC 16078

04/14/2023 PERMIT

AutoCAD SHX Text
KNEE SPACE

AutoCAD SHX Text
KNEE SPACE

AutoCAD SHX Text
1

AutoCAD SHX Text
1


		2023-04-19T11:23:56-0400
	Marcus Boyle
	This document has been electronically signed and sealed by Marcus Boyle using a Digital Signature. Printed copies of this document are not considered signed and sealed and the signature must be verified on any electronic copies.




